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Exam

SUGGESTED SOLUTIONS

QUESTION 1
(1) c

(2) b

(3) c

(4) b

(5) d

(6) b

(7) d

Workings

3) Ave P/U for 1st 4 = 512 ( = 128

819,2 ( 8 = 102,4 x 0,8 = 81,92 (1st 16)

This now remains the same.

Ave for 4 units

128

For 2


128 ( 0,8 =
160

( Total for 2



x2   





320
4)
C:
30 ( 8
=
R3,75/hr


B:
35 ( 10 =
R3,50/kg


Mut:
10B + 15C
( 4 000


Objective function:
35B + 30C

5)
Over/Under
=
Actual OH
-
Absorbed OH

	
	 =
	290 000
	  -
	 (
	300 000
	x 68 000
	)

	
	
	
	
	
	75 000 hrs
	
	





=
18 000 under
	6)         FOQ    =
	(
	2 x D x ord
	HC      Direct   =
	R25,00

	
	
	H/C
	Opp. Cost   = 
	30,00

	
	
	
	
	55,00

	
	(
	1 275 000
	
	

	=
	
	55
	Opp. Cost
	

	
	
	
	
	20% - 8% = 12%

	=
	
	153 Units
	
	x 250 = R30


7)
8 500 ( 330 = 27,75 x 6
=
154,55 + 25





=
179,5





=
180 Units
2)
Expected Duration
=
to + 4tm + tp





         6





=
20 + 4(24) = 28





           6





=
24 Weeks
QUESTION 2

Selling Price/u

=
31 250 ( 250




=
R125/u x 1,08 = R135/u
Raw Mat/u

=
14 440 ( 250




=
57,76 x 1,09




=
R62,96
Direct Labour

=
2 560 ( 250




=
10,24 x 1,06




=
R10,85
Manufacturing OH
=
4 824 ( 250




=
19,296 p/u   (Fixed and Variable)





4 824k ( R2 400 = 2 010 ( Machine Hrs






     2 010 mh / 250k = 0,00804 MH/U
High-Low

	
	Cost
	
	Volume
	(Machine Hours)

	H
	4 524 000
	
	2 010
	

	L
	3 982 500
	
	1 500
	

	
	841 500
	
	510
	


VC/U
=
841 500 ( 510

FC
=
TC – VC


=
R1 650 Per M.H.

=
4 824 000 – (2 010 x 1 650)







=
1 507 500    (Total)

VC
=
1 650 x 1,15


=
1 897,50 per machine hour
1 897,50 x 0,00804 hrs
=
R15,25/u
Admin Costs

Fixed – given



1 216,000

Variable:
960 ( 250

R3,84/u – 6%





=
R3,61/u
Semi Variable Costs

Given




R850,000

50 000ℓ x R5



R250,000
Fixed

200 000ℓ x R3



R600,000
Variable






R850,000
a)
B.E. Point
=
 FC


FC =
Man
1 507 500





M1/U



Admin
1 216 000




=
2 973 500


Semi
   250 000




  39,33/U



2 973 500



=
75 604 Units







M.I. =
SP
=
    135








VC








Raw Mat
=
(62,96)








Labour

=
(10,85)








v. Mar

=
(15,25)








V. Admin
=
  (3,61)








S.V.

=
   ( 3,0)










  39,33
QUESTION 2 (Continued)

b)
MOSR
=
S – BES



      S



=
112 500 – 75 604



       112 500



=
32,80%

Turnover can decrease by 32,5% before the company will start making a loss.

c)
S
–
 VC
 –
 FC
=
Profit


39,33 (112 500) – 2 973 500

=
R1 451 125

Decrease in profit:
=
6 400 000 – 1 451 125





=
R4 948 875
=
4 948 875 ( 6 400 000








=
77,33%
d)
S
–
 VC
 –
 FC

=
P


112 500 x – (95,67 x 112 500) – 2 973 500
=6 400 000 x 0,4


x = R144,86/U
QUESTION 3

a) Mr Roy should buy an existing shop and add sale and repair of sound equipment.

b)
A:
800,000 + 25 000 = 825 000 x 25%
=
206 250


Return





237 000

B:
890,000 x 30% = 
267 000


Return


254 000

A renders a higher return.

QUESTION 4
Additional FL P/M = 1 700

a)
i)
There is a strong relation between costs and the unit produced.

ii) No.  It means that the costs will react in the opposite direction to units but in the same proportion.

iii) Yes.  Since the coefficient is very close to 1, high low will be accurate.

iv) a ( represents the fixed cost or y – intercept.

b ( represents the variable cost or gradient (slope).

b)
(y

=
an + b(x


(xy

=
a(x + b(x2

20 005

=
12a + 1 260b 
      
- - (1)


2 456 250
=
1 260a + 159 400b
- - (2)


From (1)     a
=
1 667,08 – 105b
- - (3)


(3) in (1)
2 456 250
=  1 260 (1 667,08 – 105b) + 159 400b




2 456 250
=  2 100 520,8 – 132 300b + 159 400b




   27 100b
=  355 729,20





 b 
=  13,13




 c
=  1 667,08 – (105 x 13,13)






=  288,43 Per Month

c)
New production : 1 260 x 2 = 2 520 units ( 12 = 210 units per month.


Existing SP
=
R56 700 ( 1 260




=
R45

New Price
=
R45 + R5




=
R50

New FC
=
288,43 + 1 700




=
1 988,43

Total Cost


Y
=
a + b(


=
1 988,43 + 13,13 (210)



=
4 745.73

Sales

-
 Total Cost


(50 x 210)
-
(4 754.73)


=
5 745.27 Net Income
d)
Sales : 
1 260 x 50
=
R63 000 ( 12





=
5 250 Per Month

Total Cost :     Y 
=
a + b(




=
288,43 + 13,13 (105)





=
1 667,08
Net Income - 5 250 – 1 667,08 R = 3 582,92
Increase selling price, buy new machine and employ seamstress.

254 000





(280 000 - (2 500 x 12)





(300 000 - (2 500 x 12)





220 000





180 000





275 000





200 000





250 000





0,8





0,2





Existing shop





0,4





0,6





0,3





0,7





Sale & Repair


Musical





Sell & Repair


Sound





Alt 2





Alt 1





220 000





237 000





235  000





237 000





254 000





254 000














